Code No. 36

Total No. of Questions : 42 ] [ Total No. of Printed Pages : 8
March, 2008

BIOLOGY

( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks : 90

( Kannada Version )

ZotsREnes ;1) ongan s wennesy ok wndsy, nas.
i) iy MoheRs wInen wosnusy RSCIHRO.

o -1 —( mémse,)
TN - A
B3 39NT [F NI F8C3ROTBR, LOTD BT BFHTe 2.0WD WBTE) Y8 DA ¢
5x1=5
1. @,0e08° Q0msesd ?

2. 0EeE xoge8d, ( Non-sense codon ) WO YOI BRG.

3. T[BNELE YT  ( Aerobic respiration ) @B,  TI0INTELB  LVATARITE),
( Anaerobic respiration ) 20 AR, FH3 TR, BAOA.

4. BeSBRSTE), ©RTTINTIT ST T Q. O3RTYTD 7
5. 03 ®e@dee3nsd ( Complementary cells ) Q033630 ?
TN - B

85 39NT [ NP, CSRFYTWTTR XX IFNRENR 2 00T 5 w3 NeE) w8 0R ¢
5x2=10

6. Q.aT°.Q PT0RS,WRMT  DJ,E  ROTE,To AT 0TTERD 7 SReatS
FOO3DETIERD 7

7. T3 YOOTHT ROTTERY 7 E3edTT) w03), €3e303RNONTIE 03RTYTIHETR T
T, TANTTY, T, Joeke.

8. B TTNLTY 309,809,2 :
a) Qm39,D3%° ( Deplasmolysis )
b) 3pe3Re, w3 ( Wall pressure )
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9.

10.

11.

12.
13.

14.

15.

16.
17.

RRNGE), FE2RFATTT 03FYTIETR Toe, TIZNTy, 9A.

WBIRBIRODNTY, ( Growth ) T,a79,RR.  OIRIYWIECR  RTE  WERIR AT
TORPERINGTY, PR

TR 080T, FRANS BLar B0 NGB F03ReN=TY, QS0A.

TN -C

8 NI CRPYTECR  Fews, JFNYR Feodeomse, 200 - 250 ITRIL,
OTB, T3 B WIWO ¢ 4 x5 =20
3T ROB CRBOLD BRTITEETY, eSO
2e® 383 ( Gene therapy ) Q0TTe 7 900 QFNETY, DeSOR. AT T,
VT,00NYRY, ( Applications ) &91.
FOOBETY, YOTC3ReNA, oMo & T9Bw,303=y, ( Tissue culture technique )
%08,3,eoN TOA.
TFETD BOMOBNLOTTERD 7 WODTIE TNy, MOTHS8AT 3B eotn FRTO
DR DeSOD &Y TG0 [HET YOMA0BTZY, W[OA.
TPET,A00 BT AT 0BT, QeSOA.
a) WHOH  Wpeedeepomdsedm®s  ( Cyclic  photophosphorylation )

O3REITIWE, BART,TRY, LTOWO.
b) C, - 3@FIwns (C, - Pathway ) Q050D 7 2,003 YOGIRTE 3RG.

Nwon -D
83 39N BB MYE), STETH word BB, w0802 1x5=5
18. a) BIBOLT B AVIOH PAMNYRY MBI GOTeTr  RRT, Tedo 28
B3R, WB0WD.
b) R.Q. 20T ? R.Q. B0, 2,0038,08 553,005 A0 F00308,HRY,
BROR.

c) @,B0° BOHA QOTTERD ?
19. 8 3SNTYNON 20Ny, BRR :

a Q.37%.Q. 236%??,5%3 TOBL00T BBR BRYNEIY ( Identical twins )
3T TRTOD LVBE3RLARTINITIRY)..

b)  R.0F°.R.03 TR B0 nied ( Strands ) BRRT/ENTFOL .

C) T[T WERBRBNTY T 38 (L33rhd) ©Fm RS (ZLkes)
WORQRTWEROD T R0eS DO LT 3.

d) Qo AINE0LTe0ET ( Parthenocarpic ) 63 MY LT T NED.
€) ©& I, YR B0 T,8R0F LRI FODOIIY, 3N AZ,T.
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(T80enE BB BRT B3 A ZNT,)

52

II. 85 3YNT CSRRJTETR woi> FF N w8 0% : 1x5=5

20. OMAYRY MOTEAT 0@l 833 WRSR ©F WS Q8¢ ARE 80D
TIRONT, L:0A.

21. a) BpeTes, 3R e0ET BOIRNT DR O 7
b) 3oE Fpedeeneedvts Be3TRE), ( Capillary tube ) TTETRT 3083,
DTZB. D8 7
c) mToN's 3,AZWdT ( Respiroscope ) IJOSRENT Fonnedsy, MOt
HOTETIT WSSy, WRA.
on -1 — (8207, )
TN -E
83 3UNT BBMR BB3ROTER, 2OTH BT ST .03 8T, YOS0N
5x1=5
22. ‘O’ T8 nox) 0% 7 o ?
23. PRTOTBO WAIRMRE ( Global warming ) Q0T3S ?
24. PFRTRSTETY, BRTT SN TOTEEAT 369,333, BROA.
25. RFE3w® ( Spermatid ) Q0m3eRD ?
26. T3 FOTB0DTY, T, 09, R
Ien -F

85 39NT [ NP, SRFYTTTR XX BIFNRENR 2 00T 5 W3 NeE) ev8 0R ¢
5x2 =10

27. Q0FReeT FRAFTT LETIDTT IR, WITCAWD.
28. 523y, PO O3RIYTTETR T, BOBIIMNYTY, Te, WNER.
29. 28R, B3 SpIN ( Patenting life forms ) Qomdesy ?
30. ©3RRRAT S 033YTE0R NTE FoONFNSTY B, Thk.
31. TR SHORTIN CSRRYTIRETRL TN, ToOLANTTY, YA
32. 3R3E® Wmrws ( Chloride shift ) ©0mdesy ?
TN -G
B35 BINT CINFYTTTL Feel, JB NV T803R0TER, AERT> 200 - 250 IJTRLE,
VTB,QT E W3R ¢ 4x5=20

33. TTT) RA0TWRLEITR WrB0BNY FPTFRTY, 808> ( Chromosomal complement )
Fo0D 0B, ©F,CaneRy, WI0W0.

[ Turn over



Code No. 36 4

34.

35.

36.

37.

38.

I1.

a) S F00T,RB Q0T 7 CINTYTIETR DR X0TF, e DOSNERY, SPA.
b) B ITNLRY, DTOA ¢

)  9m03R,$BY, Bleadnsd ( Endangered species )

i) Y Jdednsd ( Sacred species )

i) SIIRZoBRZT ( Afforestation )

VAFFH, BB 0F,BRTOTTED 7 79,25908 3R Besdee3nsd ( Natural killer
cells ) &), QLT FTITNTTY, WTOA.

BOTTIT RNATEY, THTEAT WITR0ONR FTOH WRIT T, =By, ARFRBODRY,
QTOR.

WRTBT DBVT U0G, AePID ( Sagittal section ) TR MOVSAT WOTeTT 3
B3R, WT0WD.

208 ( Cleavage ) Q0BT 7 33,030 00td,000 3 2e$0B0 F00NTY, WTOA.

NN -H
B3 B9NT BFNYE), BRRYTTTR word FF R L0304 : 1x5=5
39. BOIROATE Q0BT 7 Lok RBOIROIRTY, 0, 5N DTOA.

40. a) OB, WY, NETYLD WIZR, FOINTE TOX CRJYTIRETH T,
B,TANTRY, T, Tk.
b) FRRS QOTTED 7 CSRFTIEOR R0E LTRTTY BROA.
c) RBSTASCT ©AWBRTE). ( Sickle-cell anaemia ) 70T &[T
Y, TR, BTRWARIT VRN AC I3 B[, TAOA.
(T,030eNE B3,3R0T B3N N3, )

85 BINT WCRRTIETR oW FF R L0304 : 1x5=5
41. ©OTTGE Panne MORAT FReT &% Aewd ( T.S. of Testis ) WS
QET0A.

42. a) HTWOD FOIVNYY VB, TCWVETIT  FY,0IVNYNTIT  OSRFYTITZOR T,
TSUANGTY, SR,
b) mMRSReREsS ( Granulocytes ) Q0T3ED 7 CIREITIHOR TR
DETR, TBROA.
c) BRI, ( Sample ) 23 030TEST FoTTHROQN WZeo HRRE. 263 TE),
C33EITIE WTSITBOTHNDRE),, AO0T Ve O3 BIERF, 29028,60 7



10.

11.
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( English Version )

Instructions :
i) Draw diagrams wherever necessary.

ii)  Unlabelled diagrams do not get any marks.

PART I — ( BOTANY )
PART - A
Answer the following questions in one word or in one sentence each :
50 1=5
What is duramen ?
Give an example for non-sense codon.

Name the phase which is common for both aerobic and anaerobic

respiration.
Which is the most abundant RNA in the cell ?

What are complementary cells ?

PART - B
Answer any five of the following in 2 to 5 sentences each : 5o 2 =10

What is semiconservative method of DNA replication ? What is the
function of ligase ?

What is annual ring ? List any two differences between tracheids and
tracheae.

Define the terms :

a) Deplasmolysis

b) Wall pressure.

Write any four physiological role of Cytokinin in plants.
Define growth. Mention any two growth inhibiting hormones.

Describe balsam plant experiment to prove ascent of sap.
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12.

13.

14.

15.

16.

17.

PART - C

Answer any four of the following in about 200 to 250 words each
wherever applicable : 4 05 =20

Explain translation of protein synthesis.

What is gene therapy ? Explain the types. Add a note on any four of its

applications.
Briefly explain tissue culture technique using stem.

What are meristems ? With a neat labelled diagram, explain the different

types of meristems based on their position in the plant body.
Explain potassium pump theory.

a) Write the schematic representation of cyclic photophosphorylation.

b) What is C , -Pathway ? Give an example.

PART - D
Answer any one of the following : 1©5=5

18. a) Draw a neat labelled diagram of ultrastructure of T.S. of

Chloroplast.

b) What is RQ ? Name the organic compound whose RQ value is

more than one.
c) What is Pasteur effect ?
19. Give reasons :

a) DNA finger printing cannot be used for distinguishing identical

twins.
b) Two strands of DNA cannot be identical.

c¢) Turgidity or flaccidity of guard cells affect the rate of

transpiration.
d) All parthenocarps are seedless fruits.

e) Very high temperature decreases the rate of photosynthesis.



II.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

7 Code No. 36

( Questions only from the Practical syllabus )
Answer any one of the following : 15=5
20. With a neat labelled diagram explain the T.S. of dicot leaf.
21. a) What is the significance of cobalt chloride experiment ?

b) Level of mercury rises in the capillary tube of simple potometer.
Why ?

c) Draw a neat labelled diagram of Ganong's respiroscope

experiment.

PART II — ( ZOOLOGY )
PART - E
Answer the following questions in one word or one sentence each :
5o 1=5

Why is blood group ‘O’ called universal donor ?
What is global warming ?
Name the enzyme which converts fibrinogen into fibrin.
What is spermatid ?

Define species diversity.

PART - F
Answer any five of the following about 2 to 5 sentences each : 5 « 2 = 10
Write a note on erythroblastosis foetalis.
List any four consequences of acid rain.
What is patenting life forms ?
Mention any two functions of oxytocin.
Mention any four causes of infertility in males.

What is chloride shift ?
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33.

34.

35.

36.
37.
38.

I1.

PART - G

Answer any four of the following about 200 to 250 words each wherever
applicable : 4 05 =20

Write about chromosomal complement, cause and symptoms of Down’s
syndrome.

a) What is conservation of soil ? Mention any two methods of soil
conservation.

b) Explain the terms :
i) Endangered species
ii) Sacred species
iii) Afforestation.

What are non-specific body defences ? Explain the role of natural killer
cells and interferons.

With a neat labelled diagram, explain origin and conduction of heart beat.
Draw a neat labelled diagram of sagittal section of human brain.

What is cleavage ? Describe the process of cleavage in frog's egg.

PART - H
Answer any one of the following : l1©5=5
39. What is dialysis ? Briefly explain haemodialysis.

40. a) List any four differences between  oogenesis and
spermatogenesis.

b) What is Jaundice ? Mention any two types.

c) Name the amino acid which replaces glutamic acid in sickle-cell
anaemia.

( Questions only from the Practical syllabus )
Answer any one of the following : 1©5=5
41. With a neat labelled diagram explain the T.S. of Testis.

42. a) Write any four differences between cardiac muscle and smooth
muscle.

b) What are granulocytes ? Name any two types.

c) Sample is mixed with Biuret reagent. There is no change in the
colouration. What inference can be drawn from this ?



